
Atomx Spare Parts
Price List

November 2011

Item No. Description

14-2333-024 Sparger, 25mL fritless, 1/2" (glassware only)

14-2334-024 Frit Sparger, 25mL, 1/2" neck, Tekmar

14-2336-024 Fritless Sparger, 5mL, 1/2" Tekmar

14-2337-024 Frit Sparger, 5mL, 1/2"  Neck Tekmar

14-8924-100 25mL fritless Sparge Glassware Kit Atomx

14-8922-100 25mL frit Sparge Glassware Kit Atomx

15-0201-024 Vessel, 15mL Amber IS

15-0270-052 Syringe, 27 mL With Side Port

14-9828-220 Trap Heater, Nichrome Wire, 230V

14-9828-120 Trap Heater, Nichrome Wire, 115V

14-9895-120 Heater, Condensate Trap, 115V

14-9895-220 Heater, Condensate Trap, 230V

14-8920-300 Assy, Heater, Sample 5/25mL 230VAC

14-7806-000 Assy, RTD (24") Temp Sensor for Soil Valve, Mount

14-7806-100 Assy, RTD (28") Temp Sensor for Sample Heater

14-7806-200 Assy, RTD (34") Temp Sensor for Heated Water Resovoir

14-8105-320 Assy, Water Reservoir/Heater 110V

14-8785-100 Assy RTD, Oven, Atomx

14-8105-420 Assy, Water Reservoir/Heater 220V

14-8789-200 Assy, Mount HTR 115V

14-8790-E20 Assy, Transfer Line Heater 115V

14-8790-F20 Assy, Transfer Line Heater 230V

14-8920-500 Atomx, Sample Heater Kit (115V)

14-8920-600 Atomx, Sample Heater Kit (230V)

15-0100-100 Heater Assy, Sample Vial

15-0100-200 Heater Assy, Sample Vial, 55W, 230VAC

14-8789-400 Soil Valve Heater, Atomx 115V

14-8789-500 Soil Valve Heater, Atomx 230V

15-0408-100 Oven Heater Assy, Atomx 115V

15-0408-200 Oven Heater Assy, Atomx 230V

12-0064-016 Bulkhead, 1/8" - 1/8" Tube stub, Brass

12-0070-016 Tee, 1/8", Brass

12-0075-016 Conn, Male,  1/8" Tube to 1/8" NPT

14-0051-016 Union, 1/16-1/16 SS

14-0241-016 Ferrule, 1/16", SS

14-0243-116 Nut, 1/16",  Short Gold plated

14-1301-016 Ferrule, 1/2" Set, Teflon

14-1590-116 Nut, Male Plug, 1/16" Gold Plated

14-2261-016 Union, 1/4 -1/16 Reducing, SS, W/ Teflon Fer

14-2535-016 Fitting, Tube 1/8" NPT 1/4", Brass

14-2792-016 Nut, Plug, 1/16", Brass

14-2950-116 Nut, Valco, 1" Long Gold Plated

14-3123-016 Ferrule, 1/16, Upchurch ETFE (081-042)

14-3124-016 Nut, Short, Blk, 1/16 Upchurch

14-3354-016 Nut, 1/2" Knurled Swagelok

14-4050-016 Ferrule, 1/8 Fitt 1/8 Tube GVF

14-4261-016 Cross, 1/8" Union Brass Aps.

14-4602-116 Nut, 1/8", SS, Valco Gold Plated

14-4695-016 Tee, 1/16" Brass

14-5661-016 Pencil Filter, Filter Flow Module

14-7038-016 Bushing, Exit, 1/8" Tefzel, Short

Glassware

Heaters

Fittings

4736 Socialville Foster Rd.
Mason, OH  45040 12/14/2011 of 5:18 PM www.tekmar.com



Atomx Spare Parts
Price List

November 2011
14-7201-009 Washer, TEFLON

14-7514-001 Plug, Flat Point Nylon, 1/4-28 X 1/4" LG

14-7671-016 Ferrule, Super Flangeless, 1/16", PEEK

14-7695-016 Nut, PEEK, Natural for 1/16" OD Tubing

14-8470-016 Plug Nut, 1/4-28, Tefzel, Flat Bottom

14-8820-016 Nut,  1/16", Short, PEEK

14-8914-016 Nut, 1/8 Black Delrin Upchurch

14-9778-016 Nut 1/8", 1/4 - 28, PEEK, Long

14-9845-016 Trap Manifold Assy w/ Fittings

14-9924-016 Fitting, 1/4-28 to Barb

15-0088-016 Union, 1/4" Brass

15-0129-053 Needle, 3 Stage, Atomx

14-0158-016 Ferrule, 1/16", SS, Set

15-0171-016 Sample Mount Assy, w/o Fittings Atomx

15-0202-079 Bushing, Peek W/ O-Ring, IS Vessel

15-0273-000 Screen, 12 UM, Inline, IS Assembly

14-5665-034 Fuse, Slow Blow, 5AMP, 250V, 5 X 20 MM

14-4383-028 Switch, Power, 10 AMP Filtered use Delta

14-5180-034 Fuse, 10A, 250V, 5x20mm, Slow Blow

14-8781-390 PCB, DC Control

14-9397-100 Optical Sensor Assy, 24"

14-9432-034 CAP Fuse, 2A

14-9433-034 CAP Fuse, 3.15A

14-9434-034 CAP Fuse, 5A

14-9577-090 PCB, LED Banner Control Assembly

14-9593-090 Power Supply, 24 VDC

14-9639-090 Power Supply 25W

14-9661-055 Encoder

14-9841-028 Switch, Limit, Miniature

15-0086-090 PCB, Temp Control

15-0197-090 PCB,  Aux DC Board

15-0380-090 PCB, Motor Control

14-8317-100 Solid Valve Assy, Atomx

14-9719-000 Pumper, Kloehn, V6

14-9784-250 7-Port Valve for Syringe Pumper

14-9799-000 Mass Flow Controller Assy

15-0112-000 Manifold, Is Valve Atomx

15-0236-050 Valve, Is Atomx

15-0271-000 Mounting Kit, IS Valve

15-0274-050 6-Port Valve Assy .030 Port W Conn

15-0275-250 6-Port Valve Actuator Assembly

15-0277-000 Clamp, Ring Valco Valve Heavy

15-0278-050 Check Valve (CV-3322)

15-0280-050 Valve, 24VDC, LQX 12

15-0650-000 Pressure Regulator Assy, Atomx-after US10313001

15-0650-200 Pressure Regulator Upgrade Kit, Atomx - Before US10313001

14-1197-039 Cord, Power, 115V 15 A, European Recept

14-8856-000 Assy, 10mL Antifoam 1520

14-5028-039 220V Power Cable

14-8834-500 Kit, Atomx Foam Sensor

14-8834-600 Kit, Atomx Eliminator Upgrade

15-0291-000 Chiller, Atomx

14-8920-500 Atomx, Sample Heater Kit (115V)

Miscellaneous

Electronics

Valves

4736 Socialville Foster Rd.
Mason, OH  45040 12/14/2011 of 5:18 PM www.tekmar.com



Atomx Spare Parts
Price List

November 2011
14-8920-600 Atomx, Sample Heater Kit (230V)

15-0000-017 Box and Foam, Atomx

15-0000-075 Atomx Teklink, CD

15-0000-KIT Installation Kit Box

15-0279-000 Blank Water Reservoir, 10 Liters

15-0290-086 USB to RS232 Converter Cable

15-0293-000 Lubricant, Dupont Krytok #GPL206

12-0083-403 Trap, U Shape, Tenax 12" LG, Stamp "1"

12-0084-403 Trap, Tenax/SG, 12" LG, Stamp "2", U Shape

14-0124-403 Trap, Tenax/SG/Char 1/8" Stamp "3", U Shape

14-2366-403 Trap, Char-SC-TNX-OV1 12X1/8, "#5" U Shape

14-3347-403 Trap, OV-1. Tenax, #7 U Shape

14-3928-403 Strat-Trap, Carbo B/Carbo S, (#8)

14-5865-403 Strat-Trap, Vocarb 4000

14-5866-403 Strat-Trap, BTEX

14-9333-403 Strat-Trap, BTEX + MTBE

14-9908-403 Strat-Trap, #9 (U-shaped)

14-9909-403 Strat-Trap, Tenax/Silica Gel/Carbo Sieve III (#10)

14-5864-403 Strat-Trap, Vocarb 3000

14-9927-002 Tubing, Siltek, 1/16" OD x 0.02" ID (per foot)

14-0583-002 Tubing, 1/8" OD, .062" ID, Natural FEP (per foot)

14-6934-002 PEEK Tubing, 1/16" OD, Natural (per foot)

14-7630-002 Tubing, 1/8" OD, Red, Translucent (per inch)

14-7633-002 Tubing, 1/8" OD,  Yellow, Translucent (per inch)

14-7634-002 Tubing,  1/8" OD, Blue,  Translucent (per inch)

14-8927-002 PEEK Tubing, 1/16" OD, Green (per foot)

14-9622-002 Tubing, Siltek, 1/16" OD x 0.040" ID (per foot)

15-0087-002 Tubing, Drain, Self Retracting (per foot)

15-0136-002 Tubing, 1/4" OD Blue Polyurethane (per foot)

14-8928-002 PEEK Tubing, 1/16" OD, Orange (per foot)

15-0272-002 Line Assy, I.S., w/ Minstac Connector

14-2991-000 Interface, HP 5890 GC

14-2993-000 Interface, HP 5995/96/85/87/88/92 GC/MS with HP-1000/RTE GC/MS Software.

14-3147-000

Interface, general purpose/HNU 301/321/421 (Valve driver option necessary 

from HNU.)

14-3233-000 Interface, Perkin-Elmer 8000 Series/Autosystem, Clarus.

14-4188-086

Interface, HP 5890 w/5970 MSD and Unix or Pascal based software.   Note:  

This cable requires the HP A111 (HP P/N 05990-60111) or A211 (HP P/N 

05990-60211) accessory card and internal accessory cable (HP P/N 05987-

60158) if using the Pascal software.  If 

14-4610-086

Interface, Shimadzu GC 14A/15A/17A  GC 14A w/QP 1000 EX MSD and GC 

14A w/QP 2000 MSD, also includes 1/16" to 2mm unions, needs Shimadzu P/N 

221-34280-91

14-4610-186

Interface, Shimadzu GC 14A/15A/17A GC 14A wQP 1000 EX MSD and GC 14A 

w/QP 2000 MSD, needs Shimadzu P/N 221-34280-91

14-4652-086

Interface, HP 5890 w/5970 MSD and Unix-B or MS-DOS software, HP 

5890/5971/5972 MSD and Unix-B or MS-DOS software and HP 5890/5989 MS 

Engine

14-4938-086 Interface, Carlo Erba Mega and Vega Series/Fisons 8000

14-5397-086 Interface, two Tekmars on one Perkin-Elmer 8000 Series/Autosystem

Traps

Tubing

GC Interface Cables

4736 Socialville Foster Rd.
Mason, OH  45040 12/14/2011 of 5:18 PM www.tekmar.com



Atomx Spare Parts
Price List

November 2011
14-6689-086 Interface, HP 6850, 6890, 7890 GC

14-7396-086 Interface, Varian 3800/3900

14-7397-086 Trace 2000/Trace GC Ultra Interface cable w/ 1/16" to 2mm unions

14-7397-186 Trace 2000/Trace GC Ultra Interface cable

14-8417-000

Duet™ High Throughput Interface.  Interfaces two Teledyne Tekmar VOC 

systems with any GC or GC/MS system.

14-3233-200 PE Clarus 500 Interface Cable

14-9754-086 Shimadzu 2010-2014 Interface Cable

14-1197-039 Cord, Power, 115V 15 A, European Recept

14-5107-086 RS232 Cable Assembly (included with unit)

14-8002-186 Cable, Assembly, DC Power Harness

14-8797-386 Cable Assy, CPU to SPI Interface

14-8798-386 Cable Assy, GC/IO Interface

14-8876-386 Cable Assy, Mass Flow Controller Comm/Power

14-9401-000 Stepper motor Assy

14-9571-022 Latch, Front Cover

-547817 Elevator Assy, Atomx

15-0076-280 Tray, Carousel, 80 Position Atomx

15-0110-000 Belt, Mixer Drive, Atomx

15-0180-300 Vial Retraction Assy Atomx

15-0185-079 Bearing Guide, Carousel Tray Atomx

15-0216-000 Assy, Elevator Sample Motor, Atomx

15-0233-031 Knob, Carousel Tray Atomx

15-0255-000 Carousel, Drive Assy, Atomx

15-0259-000 Guard, Assy Mount Plastic, Atomx

Cables

Mechanisms

4736 Socialville Foster Rd.
Mason, OH  45040 12/14/2011 of 5:18 PM www.tekmar.com


